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— BT ALY 20,000,0008! x 1 Al 20,000
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068,554| 258,966 9588|038  SIlHer2RIEA
O BlaE Z&8 o5 268,554
—Ji=2 14951002 x62x 128 = 107,648
— a0z 1,495,100%! X6 x 400% = 35,883
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—[=] 11,300,000,0002 x 14l = 11,300,000
280
o o arsl 902,400|  1,805,200|  A902,800
%?;Hlogbiwﬂ 902,400|  1,805,200|  ~902,800
g:émogﬁwﬁ 902,400|  1,805,200|  A902,800
902.400| 1,805.200| A902,800|0 EaatAHRIE AL (BESKD) 902,400
— [2] 20029 & 225,600,0008 x43| = 902,400




[ SHATHA T ]
2 (700) APRIHIS 5 (710) Y8 HE : (716) H2IZ) S+ (101) @12l (el : &2
2 =
%gkn; - muey | S oa | B 2 & & I =
j\?é b= 30,864,118 31,301,581 A437,4683
Q%HI% 30,864,118 31,301,581 A437,463
QSIJC;“:H 30,864,118 31,301,581 AN437,463
L:?SJHI 791,741 717,804 73,937
l|>_(l)91\_-llj| 641,741 640,804 937
238,501 236,756 1,745 01 B
O AZt2222Y 238,501
— UBHCH AL RE 40,315,000& = 40,315
— A& A 145,132,000& = 145,132
— g2 77,5633 x69x114L = 53,054
379,308 353,722 25,586 03 2IHE*22 XN E
O =&3st2e|&A 379,308
—J|l2= 1,408,500 x7H x12& = 118,314
— 2HI3 50,000& x78x12& = 4,200
— &3 1,408,500& x7H x400% = 39,438
— &322 1,408,500& x7H x100% = 9,860
— 3ESOHI 1,408,500& x7H x120% = 11,832
— HMHF A 130,000@ x7H x12& = 10,920




[ t=TH

2t (710) H B Mgt : (716) Melzl 0121 )

e j &= OEII i i = = = =
— WSEXH| 70,000 x7Ex12& = 5,880
— Xt 78,4003 x7E x20L = 10,976
— IEE 5,108
Hi < Kt 40,0003 x7Ex0.78x12& = 2,621
“JIBHHS 20,0003 x7Hx1.48x12& = 2,487
— NHESHI B x4 465,3303x7H x0.15x43| = 1,955
— 5222 78,4002 x150%x3L x7Hx12& = 29,636
— 2HAlH| 50,000¥x7E x12& = 4,200
— MG 50,000&x7E x12& = 4,200
— A 40,0003 x7Ex12& = 3,360
— sz FY 1,408,500 x80%x7E x12& = 94,652
— SR 110,000& x78x12& = 9,240
— ¥ I2RSY 9,800 x150%x3AI2tx7H x 128 = 3,705
— AR 1,408,500& x10%x7Ex12& = 11,832

23,932 50,326 AN26,394 |04 It 22 S8+

O =& A(E0H) 51,760 x10Y9x10Y x23| = 10,352
O st4melAg 22l % EEEL 13,580
— Q1| 200,000& x7H x9& = 12,600




oHIS & (710) 2B Et : (716) Hel=) = : (101) 92| CLREE)
==}
S } - muey | S oa | B 2 & & oI =
S ET 140,00081x7% = 980
Cr=0 150,000 77,000 73,000
150,000 77,000 73,000{O RIAHL2E2X SIHEY2 150,000,0002 = 150,000
i 0,056,899 2,432,889 175,990
=21
- 405895|  469.418| 763523
285,761 347690  ~61.929|01 A2l
O wsixgH| 143,953
— 2N2Y Ysrg| 4,720,000 = 4,720
— SaHIZSY JlE g 3,500,0008! = 3,500
— 2N 242 S 30,901
‘SlazX RS AALLE(RRE, SHH) 1,000,0008 X244 x 43| = 8,000
SAHEIE AL HUHA(HE) 10,000,000 x 1744 = 10,000
CAEA AEEH HCUA ALB(LEEH) 316,7002 X6 = 1,901
C ARG BRoIAHAL NS 242 () 11,000,0008 x 1744 = 11,000
— AHAN NEE 4,980
CATAA AAD(PEE ) 120,000 x 2T A x 128 = 2,880
SOIE HOIS4 4F HA 242 (SH) 700,0008! x 35| = 2,100

— U2 +42 92,980




Mgt (716) MclZbl £ ¢ (201) LBrEEH| (Sl - HJ)

JIo

i

s Z &t = Jl ES
c D] orM 2|t 23,652
* 2EL-HLEot=XelE, FEL-HESHELY 1,090,000& x 128 = 13,080
* SolicteXelE, SHSH EEHEHDE 881,000& x12& = 10,572
T8 TMS =X el 51,000
* 18X, SolloteXclE 13,000,000& x2IH 2 = 26,000
* tHEot=Held 25,000,000& x 1HA = 25,000
* ot Xl AHRSAIE 2l 4,500,000& x 13| = 4,500
SteMeld HY AUEA HH(FEL, Ed) 1,780,000& x2IH 2% 23| = 7,120
TAlZ2E SEfHI(=E2 2 A) 43,000 x 1563 = 6,708
— ot=Xcl& Astk V183 7Y 2,500& x2,000H = 5,000
— A2 RE0 BH 22 (PEE, EH) 23,0003 x2 A x 128 = 552
— Ro1ZH 8 =2 (U2) 110,000& x128 = 1,320
O =28+ 121,000
— YASHPEL UL, EH) 50,0008 x5& x119& = 29,750
— SASHFPEEL UL, SH) 50,0003 x5 x365¢ = 91,250
O gx= 20,808
— ot=XclAlE 2+E4 2] FHI2 At 500,000% x22 x93| = 9,000




[ BHTAD ]
2 : (700) ARHIE & : (710) 22HIE ME : (716) HRIRY 2 : (201) g2 CREEE
o - pas | DE=E = o & & oI =

— A2 B35t AIE E2iXl 28 X dI(FE, 72X 2 E)
120,000 x62| x12& = 8,640
— SAD| UE(REX,EHH) 132,000 x 1L x 2 A x 12& = 3,168

120,134 121,728 21,594 102 332l

O 3322 % HA 67,118
— 2NEE B3R= 768,000& x 14 = 768
— MBI AEE(FEZ UE, &) 400,000 x3M A x 128 = 14,400
— HIXSA HIQB(PELX) 60,0003 x12& = 720
— HIILQB(FEX U, Ed) 30,0003 x4 x12& = 1,440
— dEIH AIEE 24,000
2EI, EolloteHal & (123]4) 500,000 x2M A x12& = 12,000
L2ALBIot=TAIAE(404) 400,000& x12& = 4,800
c 2ot Hel&(208 &) 600,000& x12& = 7,200
— TRSRHI| SUMEBZ(PREDX) 120,000& x 128 = 1,440
— M2I|=EIHI(FEE,E) 100,000& x4% = 400
— ASXt &2 303 7,450
A= XA 120,000& x 8L = 960
DAL= 2 70,0003 x 70 = 490




oI (710) I (716) X 2IZH| e)
= A} OH 843 T 2t =
= = ST o e = =
BENERY 150,000& x4 x23| = 1,200
MY o ZE 600,000& <8 = 4,800
— sk ¢ 4,000,000& x43| = 16,000
— IAFMHA RS 500,000& x 14! = 500
O dZH| 2,112
— Soliot==HMelE Ayl Ltet 1,100 x802| E/1L x60L x40/100 = 2,112
O Xtgtdey| 50,904
— SE(AE) 2,635,000&x 104 = 2,635
— 5E2(aE) 4,636,000 x 104 = 4,636
— 3= 33,689
e 7,432,000& <30 = 22,296
=g 4,717,000& x 104 = 4,717
A= 3,338,000& x 201 = 6,676
— S8 9,944
EdfH 6,705,000& x10H = 6,705
JIENE 221) 3,239,000&x 104 = 3,239
(2)3:2” 137,700 121,140 16,560
134,100 117,540 16,560 01 =LHOYI




[ SHTA D ]
T 0 (700) ARIHIS & 1 (710) 22HIE ME : (716) HEIEH = © (202) Ol CEEEE)
3 =

ggkn; - muey | S oa | B 2 4 = I =
O FLYF FAAY| 20,0003 x36Y x13YUx12& = 112,320
O dt20g 22X o] 20,0003 x9Y x3Ux3& = 1,620
O Zelg gRF=X0| 60,000 x4H x3U X535 = 3,600
O +ZHWME HRE=RAHYI 60,0003 x3Y x3Ux53| = 2,700
O A EHESE SR80 60,000& x2¥ x3e x53| = 1,800
O +&EA4E HRE=XNHI 60,000& x3H x3Ux43| = 2,160
OFEEZ(HE)XNAE A=K 04| 60,000& x6H x3Ux53| = 5,400
O EKAE HRF=XAYI 60,000& x5Hx3UX53| = 4,500

3,600 3,600 0105 MEWN=I| 20|
OotrXHeANE2HP MEUE 600,000& x494 = 2,400
OEPDI& L HAEOR NN (AL M| IJIA S) 300,000& x4Y = 1,200
A 4,620 4,680 AB0
4,620 4,680 AB60 |04 SN2 IR
O BNEY g2=8H|(H& 37Y) 4,620
— J|2 350,000& x12& = 4,200
— 1 5,000 x7¥x12& = 420
%?%Hl 278,360 378,183 99,823
151,900 245,700 93,800 | 01 B 2]




Eekalf= g 1 (710) SGHIE Mgt (716) MclZbl £ @ (206) M=H (Sl - HJ)

==}
S - muey | S oa | B 2 & & I =

O BtaHeIAE HATY HEPY(REX E5,012525)
420,0002 x 155 X2 A x 43| = 50,400
O TMSSNBEIE ABE PU(REL 25,02 900,0008 X34 x 128 = 32,400
O =X22I8 U2 PY(RELHE) 20,0002 x 100 = 2,000
O el AS&H| 2 7L 27,000
— DEEsAHE 15,000,000%1 x 1 4] = 15,000
— EdstanalE 12,000,000%!x 1 4] = 12,000
O 23 SHI(HBRIWYE X H (R E) 260,000 x100kg = 26,000
Ost4ar® 2 WETY(RE, UL 55, 7X) 75,0002 x20% x 4 4 = 6,000
O =S DIMSH 2 I 7Y (RES) 8,100
— mus DIMERH Y 20,0002 x300kg 13| = 6,000
— BRI 2 7002 x3,000kgx 18l = 2,100

126,460 132,483 ~6.023[02 o=yl
OstasTg4+s SAH PAU(REL EH.02)  4,0008x2,300kex128 = 110,400
O QHNE LISTH TY(REE, SoH,0H2) 11021 x400kg x 3652 = 16,060
SE— 5,000 8,900 £3,900
5,000 8,900 £3,900{03 Azt

O4REHE A% Y ADHI|XTHTL 2500008 X 20% = 5,000




AHIS & (710) GgHIE Mg @ (716) XelZ&td| S (212) s2E=MY| (¢ - & &)
==}
S } - muey | S oa | B 2 & & oI =
Qéléé’ilﬂl 72,430 66,974 5,456
43,621 40,755 2866|011  AlslEEsHD
O 2ZFWs BRI 40| BRLD 379,308,0002 x 11.5% = 43,621
28,809 26,219 2590(00  JIEI=El= M|

O m=y 7,035

— o= 130,0008 X362 = 4,680

— ol gl 35,0008 X362 = 1,260

— aEmEBRIR T2y 1,005

xrol= 65,0002 x 72 x 23| = 910

oL 5 35,0008 x 7% = 245

o5t 52t 20,0008 x 7 = 140

o3z 21,574

— s 3A 2,590,0002 = 2,590

— B2l ARAADER 2 7,0008 x4 x 102 x 128 = 3,360

— AETHME ARl 2SX 7,000% x3% x 102 x 128 = 2,520

—SANSTHREE AYDDT 2 7,00081x22 x 102 x 128 = 1,680

— AmBMNY ARRI22X 7,000% x3% x8U x 122 = 2,016

—RET(HR)XAE Al 7,0008x 7% x82 x 122 = 4,704




ol g B (710) 2HIE MEt o (716) HelEH) = (212) =2lS ) (el : ®7)
==}
2 = wew | gl | B2 O
— EHTAY ASI22X 24| 7,000% x7% x8U x 122 = 4,704
I, 2,400 2,400 0
2,400 2,400 0|0 si=nsH 2,400
— S HIALSYRH JS DS 300,0009! x4% = 1,200
—EDIR DS L ¥EOS DS 300,000/ x4% = 1,200
PN, 606,494 661,194|  A54,700
606.494|  661.194|  ~54700|05 &Sl
O #E I AL 3,600
— = ADI 250,000 x3THx 23| = 1,500
— a0l ZalE 100,0008! x 7CHx33] = 2,100
O A28 Balll 23,894
— e 2. 71781x3,6821 = 10,004
— EHEA T 2.71781%4,729 = 12,849
TS Ik 1,11881x031m = 1,041
O St4R2l® JIH 2 HII&H KA 81,000
— 72D Y EdeEHAT 35,000,002 x2JH 4 = 70,000
— R 5,000,0008 x 1J 4 = 5,000
— APD DTEAHRIAE(R, QS S X) 2,000,000% X3} £ = 6,000




(716) HelZ ] 2 (214) 24X A

JIo

i

&t = )

]

O SUAIE(20048) FAH(FEE,S0H)

O ot=Hel& UHSHMOAAE(PLC) R 22l

O =ZEXNSAHASI| KA 2AelH(REZ)

O +ZEFIY| L 24012 RXH(TEE)
OSHEDF HlALR)| B o BALH(REE, YI)

3,000& x1,0004 %3 4

100,000& x100m x23| =
100,000 x100m x 13| =
100,000& x50m x 13| =
100,000& x60m x 13| =

1,600& x5004x3M A =

1,000,000& x 13CH

70,0003 %3038

10,000,000 x 2K A

10,000,000& x20H =

3,000,000 x2CH
2,000,000& x5 A
15,000,000& x 14|

7,000,000& x5IH 2

5,000,000& x 14! =

10,000,000& x 14|

2,500,000& x2H A =

41,000

20,000
10,000
5,000
6,000
2,400
9,000
13,000
2,100
20,000
20,000
6,000
10,000
15,000
35,000
5,000
10,000

5,000




[ BHATHAD ]
2 : (700) AFRIHIS & : (710) 22HIE ME : (716) HRIRY S : (214) 282X DHY CREEE
m - pas | DE=E = o & & oI =
o | & |WE = Ol &F oH
O a30otHelAE J&Tc HEHIB(REE) 118,000
MEBIS AU PAHAZT WEHD| 25D] WX 30,000,000& x 14! = 30,000
— S X==&D] B WX 48,000,000 x14] = 48,000
— REIFX W8 WA 40,000,000& x 14l = 40,000
O &3 KNEB(REZ,E0H) 3,000,000 x8LH = 24,000
O 2H32 S8IIASEI| MANH(RERE, E6H) 1,000,000& x2CH = 2,000
O CCTV ==2| & wiM(EadH) 20,000,000& x 14! = 20,000
O 2xt BHX FA M (EdH) 2,500,000 x4X| = 10,000
O SHARRE3ot=HMelAld # L J4=2(EH) 10,000,000& x 14l = 10,000
ZEHALAARSEotHelAlE SASEHl e (EdH) 4,000,000& x 14!l = 4,000
O BHSEARNEI OIHE L ANSHOUAIAE RE(E6H) 20,000,000& x 14 = 20,000
OSSMHEHIX PLC L MOHE nH(EdH) 20,000,000& x 14! = 20,000
O ot=Hel& HSI(=Sh==<1H) WM(=H) 3,500,000 x 60 = 21,000
O2FN MIAEX tHEel RH(SHESHEZE) 6,000,000& x 14! = 6,000
O H=-0IdsA28 Mo DH(EHSHEZE) 6,500,000& x3H = 19,500
Odt=Xel& ASIATSY U MEjZSd S 2eldl(EH) 30,000,000& x14] = 30,000
Q;HI 744,000 720,000 24,000
744,000 720,000 24,000 O St=HEIAE 29 &3 744,000




[ St=THA D ]
2 5 (700) AIIBIS 8 : (710) 22HI8 HE : (716) HelmH = : (215) =21 (£9: B8
i = E
e | EE=1 < 5 S
o | & |WE = Ol &F oH
RETEAHR 28,000,0008 x 128 = 336,000
— Eoiata MR 26,000,0008 x 128 = 312,000
P EIES, 5,000,0008! x 122 = 60,000
— AFD DDEARIAIL(RA QY 2X) 1,000,0002 x 3 A x 122 = 36,000
300
A0 027.815.478| 28,150,888 335410
O 6,101 3,884 2217
6,101 3,884 0017012 JEEA
O REL S22 XY SIA8 A 6,101
— my=E 6402 x 1402 x 40§ x 122 = 4,301
2L 30,0002 x60MICH x 13] = 1,800
307
Sia10| 07,809,377 | 28,147,004 337,627
07.809,377| 28,147,004| 33762705  oi2t9ler=
O ZatstaH2l & 012t9er 29| 16,296,150
— DEAEE 5,583,260,00021 /3652 x3652 x1.107 = 6,180,669
— slaBEAEE 9,786,823
1=5] 109.89% x75,000Ex3652 x1.107 = 3,330,121
e 105,132 x 152,000Ex3652 x1.107 = 6,456,702
—2LBEAR2 2.035.49% x 350k x 3652 x1.107 = 287,858




Mgt (716) MclZbl £ @ (307) eI2told™ (Sl - HJ)

JIo

i

s Z &t = Jl ES
— SH=Xcltl 13,600 x25= %1202 = 40,800
O ZEotexcld 22tRE 23| 4,010,598
— ot=AEE 757.70& x13,100&= %3652 x1.107 = 4,010,598
O Eot-JlAot=Held QIZ2te(E 2| 2,471,104
— ot AIER 4,077.1743 x1,500=x365& x1.107 = 2,471,104
O 2bHMeltid &2 1,000 x350ke x3652 x10/100 = 12,775
O dt==d Xl X3 AIZ 23] 125,000& x110Ex365€ = 5,018,750




[ Bt=THA D ]
2 (200) XH2HXIE 5t (230) REIRFS Mgt @ (235) J1HIE X 2 1 (401) AIEHILE2THY] (Ctef @ &)
m - pas | DE=E = o & & oI =
o | & |WE = - Ol &F oH s F -
. 10,387,860|  1,340,336| 9,047,504
- 459.860| 334,700 125,160
. 451,150 321,000 130,150
e 451,150 321,000 130,150
451,150 321,000 130,150 (01 Al&g]
O4HoI HSEFID| DA L AAY 270/ 430,150
— aEnsamE 180,000,0008x 14l = 180,000
LRI 30,000,000 x 1Al = 30,000
S LIE 180,000,0008 x 14l = 180,000
— mastanalE 22,550,0008!  14] = 22 550
T SIb =BG LIt 17,600,0008! x 14! = 17,600
O ARDETOAH2IAA RABAAALDE(SX) 21,000,0008! x 14] = 21,000
S = 8,710 13,700 74,990
S 8.710 13,700 £4,990
8,710 13,700 £4,990(01  TrarEISH|
O DYBRI|(LREHE) 4,510,000%! x 1 CH = 4,510
O ges MR (4R SAE) 250,0008! x 4CH = 1,000
O 928 ARRY(LT2AE) 20,0008 x 47 = 800




St=THA D} ]
(200) ==KE & : (230) KBTS g : (237) B)I78IE = © (405) UAHSHIS CREEED
i = E
gaw | DEE | = o & & I =
= | 2 e B O & o
O RO 2I(RE)PY(RE D) 1,000,0008 x 1CH = 1,000
O XA WHE)|PY(REE) 700,0008 % 1CH = 700
O 244 WYY (TEE) 700,0008 x 1CH = 700
260
e T 9,928,000| 1,005,636 8,922,364
B zoi i 9,928,000| 1,005,636 8,922,364
I T & 9,928,000 400,000| 9,528,000
9,028,000|  400,000| 9,528,000{02  BIIZSOil CHE CHEEAF b
O BGHAHRIT MBEIS X B A 9,928,000
— =] 8,205,000,0002x 14l = 8,205,000
— =] 723,000,002 x 14l = 1,723,000




